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& 500 £EX3
Z: 510 BNBX2S
g: 511 RUBX3E (SHeada)
F.p-8.=2 0l &k o PRSIV PNET HR=Z
£ A 1,458,721 3,928,088 A2,469,367
500 EX3 1,458,721 3,928,088 A2,469,367
510 2 D2 X3S 939,982 3,228,161 A2,288,179
511 2NBX2E 939,982 3,228, 161 A2,288,179
511-01 202 %2 723,900 716,900 7,000
[ 283 ] 723,900 716,900 7,000
< 2L > 723,900 716,900 7,000
ORMELHYI 420,000
IEMY 284 350,000
—aEe AUR 8BS 70,000
OB MUSXAIAY 2= 60,000
OXSAE YTHAIAE RH 142,000
-T2 YR AIAE 57,000
—2HO AR BT Al A& 85,000
OFIIEE 24FH| 81,900
O=2stiee Z2 1y Hy 20,000
511-03 Jl2 216,082 261,261 A45,179
[ o33 ] 216,082 261,261 A45,179
<2 > 216,082 261,261 A45,179
OYst MK X HHX 72,864
Ool2a eSS X 48,576
OATXHIRH X 13,334
Osg 230122 68,838
O3y 12,470
520 Al - SHIBEZ2S 518,739 699,927 A 181,188
521 Al - SHIB®XZ2S 518,739 699,927 A181,188
521-01 Al - THIE X3S 518,739 699,927 A 181,188
[ 23 ] 518,739 699,927 A 181,188
< 23D > 518,739 699,927 A 181,188
oYLt MEHSKX X HHX 2,160
Ool2a MEHSKZX HiX 1,440
OAZZHIRH X 2,858
Osg 2302 5,575
OO0 BMBlE MAY 25 1,200
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20148 = 20l AH LEHS H 23220
EA: St
HH: 230z M=
ool 2at0lE N s (crel: @ el)
SN ED B (3H) - MEAY - BAS Ol &F o4 %gﬁ HDZ2
St 8,083,677 11,160, 641 N 3,076,964
= 723,900
J| 216,082
= 57,750
&< 518,739
= 6,567,206
Sslil=s dE 1,413,719 1,088,614 325,105
J| 68,838
= 57,750
= 20,500
= 1,266,631
Sslol=s MY =20 1,322,219 962,614 359,605
J| 68,838
= 57,750
== 16,900
= 1,178,731
20132 2d 22 78,069 70,280 7,789
101 @121 H| 4,294 4,005 289
04 JI2ZtHIZ22NEES 4,294 4,005 289
Oo=Zolg a2 3 41,680 = 103 4,294
201 LBt 67,535 58,035 9,500
01 AP 22| d| 4,840 5,340 A 500
OFA & MEsE 22 70,0003 = 12& 840
OANEZE &S 200,000& * 63| 1,200
Osd3 &84 150,000 = 23] 300
O2as+HE 500,0008 * 23| 1,000
Os& 4y 22l 1,500,000 * 14! 1,500
02 2224 62,695 52,695 10,000
O&IIMNESZ 2,500,000& » 12& 30,000
Odslex AME2 200,000& ~ 12€ 2,400
Outstatel X &3l 50,0008 = 13 50
OAgot™ & 3| 45,0008 * 13 45
OB 2= 100,000& * 23] 200
OEg2d A=l 8,000,000& = 1Al 8,000
O&EII&H KX G 2,000,000& = 14! 2,000
OA&ZH SXb 10,000,000& = {14! 10,000
OAHE KAHI 10,000,000 = 14! 10,000
307 QI2t0| & 6,240 6,240 0
05 QIZtREZ 6,240 6,240 0
OASAH KA 260,000& » 123 3,120
O&EI| &Yl et&2te| 260,000& ~ 12€ 3,120
SENSNRPAZ 2222 13,220 360,220 A 347,000




fAH: S2st22 1
M 2oos ds
Hel: 230z MY =i (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 11,420 8,420 3,000
02 =224l 11,420 8,420 3,000
Oo2gdy 4,620
-2y |2l 260,000 = 12& 3,120
=] 1,000,000 = 1CH 1,000
-z=cl dl 500,000& = 1CH 500
o2 2 J| Hahl 600,000  3CH 1,800
OA&ZEH ®Xdl 5,000,000& = 14 5,000
307 2I2H0I A 1,800 1,800 0
05 BIZHRI & 3 1,800 1,800 0
Ofelddl AlAE |X2el 150,000& 122 1,800
SEHHICI2 XIE &= 4,040 4,040 0
201 LBH2d| 2,750 2,750 0
01 At 2t 2l 2,750 2,750 0
ORBtgAs 25 &7 L HINME 500
ORrsZgd U= 1,700
- ¥ RS MEH 800
—d A= 100,000&  3Al2+ = 33l 900
OfIEtgA gRES B2&810 Xz 550
202 odl 1,290 1,290 0
01 = LH o4 1l 1,290 1,290 0
OseHIt2 s ANEHS 1,290
SIXNERY X 8,000 8,000 0
= 4,000
s 4,000
307 21201 A 8,000 8,000 0
& 4,000
s 4,000
02 B AEXS 8,000 8,000 0
O=21xzg #4 XA 4,000,000 » 2004 8,000
& 4,000
e 4,000
L 2ed 23 A& 110,500 93,500 17,000
=2 53,750
< 1,500
e 55,250
307 glz2tol & 110,500 93,500 17,000
=2 53,750
< 1,500
s 55,250
02 RIZHEANEXS 52,500 49,500 3,000
OuUMzsd &35 X 49,500
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EX: S22
HH: 230z M=
e 23tz M8 =2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OxER=2 100,000& = 12& 1,200
OSt2 A IS EAI2 AL EH | AH] 5,000
307 2iz2to| A 1,800 1,800 0
05 QIZ2tREF 2 1,800 1,800 0
ORelHHAIAEY KXl 150,000 = 12& 1,800
OLJ12F & Motes MAIY 2= 6,000 5,000 1,000
= 1,200
= 4,800
308 MXISHHSOIA 6,000 5,000 1,000
= 1,200
= 4,800
06 I 20USEEX= 6,000 5,000 1,000
OO0 2 SMoles A 25 6,000
= 1,200
= 4,800
M2 X3 15,000 2,000 13,000
o=t 4,500
= 10,500
307 212t0| & 15,000 2,000 13,000
o 4,500
= 10,500
02 QI2tAAE X2 15,000 2,000 13,000
OX2SEAMS T AT 15,000
& 4,500
= 10,500
2032 e2ad 800,000 0 800,000
401 AlEHIZ £ 0HY| 800,000 0 800,000
01 Al&H| 800,000 0 800,000
OZolga elead 800,000
239 & At 8,250 8,250 0
& 4,125
= 4,125
307 QI2t0| & 8,250 8,250 0
= 4,125
= 4,125
02 Q2tAMNE XS 8,250 8,250 0
OANZE32 & At X & 8,250
= 4,125
= 4,125
HEUHWEESL0| A A 6,000 0 6,000
307 S12t0| & 6,000 0 6,000
04 QIZtSHALE X2 6,000 0 6,000
OFEUEEL0 A XIS 6,000




2AMd: 2322
M 2oos ds
Hel: 230z MY =i (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ESUS0=s3AUE X 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 RIZIHAIE RS 8,000 0 8,000
Os=sgxsMs3dUa X3 8,000
SEFAHMH=Z AU X 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 BIZHHAIE RS 5,000 0 5,000
Os=Ea2dUsZdUs XN& 5,000
=29 3¢ XA 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZtHAIZB X3 5,000 0 5,000
OJ=29eg 24 XA 5,000
HRAA=T g deldl el K& 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 RIZHHAIE XS 20,000 0 20,000
OHA=S 82l sl X 20,000
d= AZ3EUE XA 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 RIZIHAIE RS 8,000 0 8,000
OFIAN=Z U XA 8,000
WUMHEALE QHAAEZ} HIAFF K& 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 BIZtHAIE XS 3,000 0 3,000
O2AHAER HIAFE K& 3,000
S==3ZsH A& 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 RIZIHAIE X S 3,000 0 3,000
O=s=&32sH XA 3,000
stXI 23t =H 8,000 0 8,000
307 gl2tol & 8,000 0 8,000
04 RIZIHAIE RS 8,000 0 8,000
OstXIZa=H 8,000
=g =storsd 96,712 0 96,712
J| 68,838
< 5,575
e 22,299
307 glz2+ol & 96,712 0 96,712
J| 68,838




EX: S22
M. 2ols ME
@2 230z MH =20 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
& 5,575
= 22,299
02 0I2tFAE L= 96,712 0 96,712
Osg 2solsa 96,712
Dl 68,838
= 5,575
= 22,299
NS HSLH 91,500 126,000 A 34,500
& 3,600
= 87,900
stpilgd X 12,000 12,000 0
307 212t0| & 12,000 12,000 0
02 QI2t3 A8 X2 12,000 12,000 0
ogwilgd X 12,000
=1 & 5,000,000& * 1JH A 5,000
i 3,500,000& * 1A 3,500
-3 ot 3,500,000& * 1A 3,500
sk MMM X& 4,500 4,500 0
307 212t01 & 4,500 4,500 0
02 AAtAMNBEXZ 4,500 4,500 0
O™ H K& 4,500
-1 A 750,000& * 23] 1,500
-3 750,000& * 23] 1,500
-3 ot 750,000 * 23] 1,500
TEHI=EsnNE A& 18,000 18,000 0
= 3,600
= 14,400
307 QI2t0| & 18,000 18,000 0
= 3,600
= 14,400
02 AABMNBEXS 18,000 18,000 0
OEg4d3= uskd 6,000,0008 * 34 18,000
== 3,600
iy 14,400
HEANE Badsted N 41,000 37,000 4,000
307 212t0| & 41,000 37,000 4,000
02 AAtAMNBEXZ 41,000 37,000 4,000
OHEANE ntisr2g9g X 41,000
SKSETM L HEYRD] 10,000 10,000 0
307 212t0| & 10,000 10,000 0
04 CIZtSHAIE == 10,000 10,000 0
ORSETFM & HASYLRD| 10,000




fAH: S2st22 1
M 20z s
oelr MERS Hsed CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SOA HE X 3,000 0 3,000
307 glz2tol & 3,000 0 3,000
04 QIZtHAIE X = 3,000 0 3,000
OSUA M & 3,000
AObA HIE XI& 1,500 0 1,500
307 21201 A 1,500 0 1,500
04 BIZHHAIE RS 1,500 0 1,500
OAtOHA Mgt 1,500
SN HE XA 1,500 0 1,500
307 21201 A 1,500 0 1,500
04 QIHAIE RS 1,500 0 1,500
OstA AN ME XA 1,500
Fots4a EEFH 1,794,757 1,855,078 A 60,321
2 723,900
= 459,750
s 611,107
=M & E=3Hl 1,444,000 1,624,000 180,000
= 622,000
< 411,000
fia 411,000
S 25 24 440,000 460,000 £20,000
< 220,000
[ia 220,000
401 AIEHIZL 20HEI 440,000 410,000 30,000
< 220,000
s 220,000
01 A& HI 436,580 406,472 30,108
OFetetn 2= 158,848
< 79,424
e 79,424
OgE&n 2=+ 119,136
< 59,568
s 59,568
Osdganl E= 29,676
< 14,838
s 14,838
O0l#gEllt B 59,460
< 29,730
s 29,730
OZEXNEEZ3M oL EEHI 49,460
< 24,730
e 24,730
OXNE=2stM AnBE= 20,000
< 10,000
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10,000
03 Al S THHI 3,420 3,528 A 108
O&otetw A& 20| 1,152
576
576
O3 AL 864
432
432
OS"YA NI Al R0t 324
162
162
O0l&E10Jt Al =20Hbl 540
270
270
OEXNEEZSMAHEZH AIE2UHI 540
270
270

M H EUNL EURLY SUNE

M

HSAE ZMWAIAE 2= 284,000 120,000 164,000
142,000
71,000
71,000

HH A

402 2I2tXE2 01 & 284,000 120,000 164,000
142,000

71,000
71,000

HH A

e
e
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284,000 120,000 164,000
142,500,000& * 80/100 114,000
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O2LAA STHAIAE  212,500,000& * 80/100 170,000
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420,000
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401 AIEHI 2L 2 0H L] 600,000 560,000 40,000
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2N

=232
HE: 2R 2EFY
S 2EM S 24FH EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 69,370
= 14,865
= 14,865
03 Al 20| 4,500 4,140 360
OQODIEAE AIE20UHI 3,600
= 2,520
& 540
= 540
Oas2 AUR AIE2Ub] 900
= 630
&< 135
= 135
25 Y X AIAE 2= 120,000 0 120,000
= 60,000
& 30,000
= 30,000
401 AlEHIZL £ 0HY| 120,000 0 120,000
= 60,000
& 30,000
= 30,000
01 Al&H| 119,136 0 119,136
OBANERAE LA 119,136
= 59,568
= 29,784
= 29,784
03 Al 201 Y| 864 0 864
OSANERE AIEL201H] 864
2 432
= 216
= 216
23 ss B 350,757 231,078 119,679
= 101,900
& 48,750
= 200,107
ZS0IAF 22 5,050 4,550 500
201 LBt | 4,050 4,050 0
01 AP 22| d| 750 750 0
OFCQA HX £=HE 250,000 * 13| 250
OF0IA 22 8 7¢ 500
02 2224 H| 3,300 3,300 0
OEQIAF 22| 3,300
-&IIAIE S X HI 100,000& = 12& 1,200
-0l = J| Al 300
-A = d 1,800
206 M = dl 1,000 500 500
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[~}

HOHD ™
folr

040 &
e ox

HO MO Mo
o o o
[z rz o
==

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MHZ 8l 1,000 500 500
OSUAM 2l (=) 1,000
S MAIE SR2e 138,307 68,128 70,179
101 @124l 3,335 3,156 179
04 JI2ZtHZ22HEE = 3,335 3,156 179
O=stM =8HH 41,680 = 80 3,335
201 ¢4l 30,860 30,860 0
01 At 22l 17,540 17,540 0
OS2 M EIHEBA =22
200,000& * 13l 200
OSSHLTHAIALY HEAEH 25 (7HD)
910,000& =« 123l 10,920
OUANE2M 5 ==&
600,000& = 23l 1,200
OsgA N8 2haE 110,000& * 23| 220
O=stMet 2= M 500& = 10,0008 5,000
02 =224l 13,320 13,320 0
OZ sttt Xl 22| 3,000
O&IIAIE =X 400,000& = 123 4,800
Osgal e 1,920
-4ot+E 23 100,000& * 122 1,200
-oIHYE Sz 60,000& ~ 12& 720
O23 M LMALAE 22 3,600
-H8IIAlE |l 250,000& = 123 3,000
= 0= TR = 50,000& = 12& 600
202 (44l 2,000 2,000 0
01 = LH &4 1l 2,000 2,000 0
O=staelde =& 2,000
307 gl2tol & 2,112 2,112 0
05 BIZHRI & 3 2,112 2,112 0
OEgA N RAFHIAAE FX4|
176,000& * 122 2,112
401 AlEHI 22 ThYI 100,000 30,000 70,000
01 A& Bl 100,000 30,000 70,000
OEEe US4E E= 50,000,000& = 14l 50,000
OZsMAIEE = 50,000,000& = 14l 50,000
LHSH M X 9,600 9,600 0
< 4,800
[ia 4,800
301 et a3z 9,600 9,600 0
< 4,800
[ 4,800
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EX: S22
HE: 2R 2EFY
& 2R ES2e CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 19,500
402 SI2F 20| & 39,000 0 39,000
& 19,500
= 19,500
01 Q228 X 39,000 0 39,000
OAatskn) S22 15,000
= 7,500
= 7,500
OFotern Sl 12,000
= 6,000
iy 6,000
OWEsN KA 12,000
== 6,000
= 6,000
dlEME & MEHs 4 1,462,924 1,345,685 117,239
J| 134,774
o= 14,839
= 1,313,311
M3 H= 113,100 147,100 A 34,000
M= M=z M= 2,100 103, 100 A 101,000
202 044l 2,100 2,100 0
01 2L Y| 2,100 2,100 0
o= A=sUzg: =8 2,100
UMNDFEEH UMZF)| E2EHIS U 38,000 0 38,000
307 212t0| & 38,000 0 38,000
04 QIZISH AL X 2 38,000 0 38,000
OUMDFEFM UMD d3Z2LEHZE=UZ 38,000
N=ZAWL=Z03 36,000 0 36,000
307 2Iz2to| & 36,000 0 36,000
04 QIZ2tSH AL X 2 36,000 0 36,000
OF=ZALHEZ20U3 36,000
A ArtOt2tEM S R A& 10,000 0 10,000
307 giztol A 10,000 0 10,000
04 QIZ2tSHALE X 2 10,000 0 10,000
O A AtetOtetEWM S N = X & 10,000
UMEHZB DU =2 S35 24203 JHE 10,000 0 10,000
307 QI2t0| ™ 10,000 0 10,000
04 A2AHAIE X = 10,000 0 10,000
OYMAEZINFH =2 S350 =203 10,000
UrZD| MEHE HOE=UZ 6,000 0 6,000
307 2Iz2t0| & 6,000 0 6,000




AN 23220
o ,

M HdPENE £ MEH=E 4
S ASHE N (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 CI2ZtSHAIE == 6,000 0 6,000
Otz Metds HOEZSUS 6,000
WUaZ)| S=EMHENE D22 23 6,000 0 6,000
307 QI2t0| ™ 6,000 0 6,000
04 CIZtSHAIE == 6,000 0 6,000
OQiAZ)| SSMEN=E 422203 6,000
T S MES}A i X 5,000 0 5,000
307 212t01 & 5,000 0 5,000
04 A2tHAIE X S 5,000 0 5,000
O o2 MsSHA =l X 5,000
e g2 2 2Y 713,338 658,755 54,583
54 XN 713,338 658,755 54,583
201 Bt A H| 10,800 9,360 1,440
01 AF2 22l Yl 3,600 2,160 1,440
ONFAIR B4 LR
90,000& = 204 = 12&€ 2,160
ONBHIIL B4 el
60,000& = 204 = 12&€ 1,440
02 3524l 7,200 7,200 0
OXEHIE =4 29 7,200
-Mol= 41,6603 = 204 = 128 1,000
-=C = 41,6608 = 200 = 12& 1,000
- 2 H| 5,200
301 dBtE A= 702,538 649,395 53,143
Vo=t - 2sSESEA2 702,538 649,395 53,143
o4 20 266,400
-1s2 3,000,000& * 294 = 12& 72,000
== 2,200,000& = 39 * 12& 79,200
-3 =2 1,600,000& * 6Y * 128 115,200
Os4a3 Al 450,000& * 119  12& 59,400
Ogsads =28l 2,000
OHUA 20 107,076
A 1,907,000& » 1 = 128 22,884
&= 1,480,000& * 39 * 12& 53,280
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StHAIME 2 |2 96,000 105,000 A 9,000
st Mg s 29 96,000 105,000 29,000
307 21201 A 96,000 105,000 A9,000
05 RIZt2IEt = 96,000 105,000 29,000
Ostiidgesa 29 96,000
22X WAL 938,500 1,038,500 A 100,000
clEtd ezt X4 38,500 38,500 0
403 A X EHHSH=0lA 38,500 38,500 0
02 S| 2 S0il CHSHCH & A 38,500 38,500 0
OFF2erZ A
38,500,000& * 14 38,500
DAEMTH 22 EJAIE &5 900,000 1,000,000 2100, 000
401 AIEHI L 20 900,000 1,000,000 2100, 000
01 A& HI 900,000 1,000,000 100,000
OUAMMI 2FEAAL &EX
900,000,000& = 14 900,000
SN FSE= 277,832 733,032 A 455,200
NA=H SAXA 277,832 733,032 A 455,200
WA DZ==A 100,000 656,000 A 556,000
307 glz2tol & 100,000 584,000 A 484,000
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2N

Hu: =HaE
Sl KSEH BAK SREED
- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S %@i 2t
OFHOH HHIDE &tots 2& X 15,000
Alel® Stots & 23 13,000 0 13,000
307 QI2t0| & 13,000 0 13,000
04 QI2tHAIE X = 13,000 0 13,000
OA2lH stots & 23HEAM 13,000
2E0IS A4S S0Is 2 &K 12,000 0 12,000
307 2Iz2t0| & 12,000 0 12,000
04 QIZISHALE X2 12,000 0 12,000
OA4FZ20IS A9 SOIS 2&X 12,000
8 =2 #HE=0| 20,000 0 20,000
307 2iz2to| & 20,000 0 20,000
04 QIZ2tSHALE X 2 20,000 0 20,000
OBd 25 ¥HxE=0| 20,000
a2 2 FH 3,000 0 3,000
307 QI2t0| ™ 3,000 0 3,000
04 QI2tHAIE X = 3,000 0 3,000
onEus: 2 A 3,000
HHSAAY (S22 ) 133,532 129,813 3,719
d2dd|(Sst22 ) 104,576 101,189 3,387
b (2Sst22Z 104,576 101,189 3,387
101 2121 4| 104,576 101,189 3,387
01 = 66,975 66,228 747
ORI A2t 22 S (28A12H) 66,975
02 JIEFR &2 &%= 11,402 10,430 972
ORst2Z HAAFE AUQAZLR2 LG (27AI2H) 11,402
03 I HLsZ22 NHE 26,199 24,531 1,668
OF0IA 2 22l 26,199
Il 2 39,900& * 1Y 246 9,816
-2 9,815,400 = 1/3 3,272
R LR
7,481& 18 x 20A12 ~ 12& 1,796
-2 A S| 700,000& * 1Y€ * 23] 1,400
-HHZAH| 100,000 = 19 » 12&€ 1,200
-WEE XY 100,000& = 1Y = 12&€ 1,200
-JIEx4 240
Jl o EH 20,0008 ~ 1% = 128 240
-F=54 39,900 * 1¥H » 119 4,749
-gUze+y 59,8508 * 19 * 122 719
-AX =S 48,509 * 19 » 17¢ 825
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